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ERBA P E A 0 0 70 70 70
E AR E A | 0 0 70 70 70
STHRASE 400,000{100,000] 300,000| 800,000{ 800,000
ShA=E Hi 0 0] 300,000 300,000 300,000
SEHAS=% 1{&,) 400,000{100,000 0] 500,000] 500,000
SHEE 200,000] 50,000| 969,000(1,219,000| 1,219,000
F2E HE 0 0] 960,000[ 960,000] 960,000
F2E fBA 200,000/ 50,000 0| 250,000{ 250,000
2RSE 0 0 9,000 9,000 9,000
EENE 0 0 0 0] 4,970,000
TN 0] 4,210,000
B EFEEINA 0 0
HESINA 0| 760,000
INYON 0 0
e ION 0 0
STH@EBI &% 0]105,460,000
BhR & IR 0 105,460,000
e D 600,000(250,000 0| 850,000{ 850,000
AU 600,000{250,000 0] 850,000 850,000
Z DMBUNES 140,000(140,000{ 140,000{ 420,000 465,000
HEANZE 140,000(140,000] 140,000] 420,000 465,000
ERINEE 1,340,000(540,000{ 1,409,070]3,289,070|113,764,070
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EXD 0 0 0 0] 110,475,000
farl Y 0[11,300,000
GRS EE S 0| 160,000
B EAEE 0] 1,400,000
B BE 0[18,198,272
BIEE 0] 580,000
HFEmE 0] 2,700,000
ENRIE 0] 1,060,000
SRl 0 0
Y em BB R 0] 2,600,000
R 0| 10,000
AR 0 0
e 0] 6,280,000
Y 0/ 90,000
EIBETE 0] 3,400,000
B 0]9,110,000
IEEEFEE 0[51,000,000
HE 0| 586,728
ITRINMEE 0| 2,000,000
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T 101,350 0| 661,007|762,357| 762,357
faREFE Y 0 0
G EE S 0 0
BEHG1TE R 0 0
EIEES 84,000| 84,000 84,000
XBE 100,000{100,000| 100,000
| 0 0
RE B E 310,000{310,000| 310,000
BIEERE 50,000| 50,000{ 50,000
R E A& 0 0
HFEmE 0 0
(Bt 0 0
ENRI S A E 52,000 52,000] 52,000
LhEBInE 0 0
SeE KRB 0 0
SEr 0 0
R R 0 0
Eo i 0 0
R 7 7 7
I 101,350 101,350| 101,350
XL E 0 0
= 65,000 65,000] 65,000
BREERH 101,350 0| 661,007]762,357|111,237,357
Az 5 AL 1,238,650[540,000]  748,063]2,526,713] 2,526,713
BB R MBS 0
MBS AT 0 0 0 0 0
HERR E IR BEE 1,238,650(540,000| 748,063|2,526,713] 2,526,713
2. REINBRDER 0
(1) BENNZE 0
0
T AN R AT 0 0 0 0 0
(2) BENEH 0
0
REAERET 0 0 0 0 0
YRR A BER 0 0 0 0 0
ENTREE 0
WHR—ARIERRBAEY 1,238,650(540,000] 748,063|2,526,713| 2,526,713
— MR IERA R E RS 1,931,979(1,931,979] 1,931,979
— R IE R B4 EEHRZR Y] 1,238,650(540,000( 2,680,042 14,458,692| 4,458,692
Il IERRBAERARTRE  1,238,650| 540,000| 2,680,042(4,458,692| 4,458,692




